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Answer to the Exercise

	1.Crop Name and Variety
	2.Area under the Crop in
meter x meter (m2) or in ha
100m2 =0.01ha
1,000m2=0.1ha 
10,000m2=1ha   
	3. Production sold at market in various unit
(e.g. bags, crates, bundles, bushels, etc.)
	4. Production sold at market in kg (converted into kg)
	5.Production sold at market in kg per ha
	6. Average Price per various unit
(local currency per unit)
	7. Average Price per kg (converted into kg) in local currency
	8.Total Income in local currency
	9.Total Cost of Production in local currency
(incl. inputs, transportation, labor, etc.)
	10.Net Income (profit) in local currency

	1
	2 a.
	2 b.
	3
	4
	4./2 b.
	6.
	6./unit conversion in box
	(3. x 6.)or
 (4. x7.)
	9
	8.-9.

	1st Crop: 
Cabbage
Gloria
	M x M (M2)
40X5+12X10=320m2
	0.032ha
	150

(unit: head )
	225kg
	7,031kg
	$0.4

(unit: head)
	$0.27
	$60
	$10
	$50


Please indicate unit conversions in the box below. (e.g.) 1 bag of Irish Potato = 110 kg, 1 head of Cabbage = 2 kg
	1 head of cabbage = 1.5kg
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